BUS 509: Business Analytics
Quiz 3
Regression Analysis using SPSS 
(Carries 15 Marks)

1. Find out the independent variables and the dependent variables. – 1 Mark

Answer:
Dependent variable is revenue earning.
Independent variable is
1. Trust
2. Product quality
3. Communication
4. After purchase
5. Lucrative alpha

2. Do the reliability tests for the independent variables (explain the reliability tests for each of the independent variable). – 4 Marks

	Reliability Statistics

	Cronbach's Alpha
	N of Items

	.725
	4




	Item-Total Statistics

	
	Scale Mean if Item Deleted
	Scale Variance if Item Deleted
	Corrected Item-Total Correlation
	Cronbach's Alpha if Item Deleted

	trusting_emcommerce
	6.17
	4.097
	.592
	.620

	saving_time
	6.45
	4.356
	.512
	.666

	believing_it_as_better
	6.07
	3.353
	.600
	.613

	refering_friend
	6.27
	4.871
	.378
	.734



In dependent variable Trust alpha value is bellow (0.8) but it is 0.725 which is closest.




	Reliability Statistics

	Cronbach's Alpha
	N of Items

	.712
	3




	Item-Total Statistics

	
	Scale Mean if Item Deleted
	Scale Variance if Item Deleted
	Corrected Item-Total Correlation
	Cronbach's Alpha if Item Deleted

	trusting_products
	5.12
	2.574
	.586
	.554

	consider_as_better
	4.80
	2.626
	.601
	.540

	satisfication
	5.48
	2.717
	.421
	.766



In dependent variable Product quality alpha value is bellow (0.8) but it is 0.712 which is closest.



	Reliability Statistics

	Cronbach's Alpha
	N of Items

	.708
	3




	Item-Total Statistics

	
	Scale Mean if Item Deleted
	Scale Variance if Item Deleted
	Corrected Item-Total Correlation
	Cronbach's Alpha if Item Deleted

	satisfication_with_communication
	4.53
	2.204
	.564
	.593

	response
	4.30
	1.395
	.580
	.596

	providing_product
	4.53
	2.307
	.503
	.656




In dependent variable communication alpha value is bellow (0.8) but it is 0.708 which is closest.
	Reliability Statistics

	Cronbach's Alpha
	N of Items

	.707
	4




	Item-Total Statistics

	
	Scale Mean if Item Deleted
	Scale Variance if Item Deleted
	Corrected Item-Total Correlation
	Cronbach's Alpha if Item Deleted

	necessarity
	6.65
	3.721
	.723
	.504

	satisfication_with_delivery
	6.68
	3.969
	.640
	.559

	Helpfulness
	6.63
	5.266
	.291
	.744

	spreading-market
	6.38
	3.574
	.413
	.735



In dependent variable After purchase alpha value is bellow (0.8) but it is 0.707 which is closest.

	


Reliability Statistics

	Cronbach's Alpha
	N of Items

	.702
	3




	Item-Total Statistics

	
	Scale Mean if Item Deleted
	Scale Variance if Item Deleted
	Corrected Item-Total Correlation
	Cronbach's Alpha if Item Deleted

	relying_on_purchase
	5.15
	2.797
	.618
	.490

	rely_on_needs
	4.82
	3.020
	.493
	.644

	purchasing_expensive_products
	5.42
	2.917
	.457
	.694


In dependent variable Lucrative alpha alpha value is bellow (0.8) but it is 0.702 which is closest.

It is dependent variable revenue earns.

	Reliability Statistics

	Cronbach's Alpha
	N of Items

	.806
	3




	Item-Total Statistics

	
	Scale Mean if Item Deleted
	Scale Variance if Item Deleted
	Corrected Item-Total Correlation
	Cronbach's Alpha if Item Deleted

	relying_on_purchase
	5.45
	2.921
	.690
	.698

	rely_on_needs
	5.13
	3.087
	.583
	.809

	impact_of-communication
	5.43
	2.917
	.693
	.694






3. Finally compute the excepted questions of each variable and name them as new variables (using compute option from SPSS) – 3 Marks
[image: ]

4. Do the regression analysis and explain what adjusted r square value shows in that analysis. – 3 Marks

	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate
	Change Statistics

	
	
	
	
	
	R Square Change
	F Change
	df1
	df2
	Sig. F Change

	1
	.946a
	.895
	.882
	1.03522
	.895
	74.204
	4
	35
	.000

	a. Predictors: (Constant), Relibility, communication, Trust, product.quality



The adjusted r valu 0.882. so the relationship between independent and dependent variable are strong.
** Explanation is not appropriate.
[bookmark: _GoBack]

5. Explain the co-relation matrix and explain the co-relation among the independent variables and the co-relation between the independent variables and the dependent variable. – 2 Marks

Answer

	Correlations

	
	revenue.earns
	Trust
	product.quality
	communication
	Relibility

	Pearson Correlation
	revenue.earns
	1.000
	.473
	.944
	.155
	.755

	
	Trust
	.473
	1.000
	.457
	.226
	.416

	
	product.quality
	.944
	.457
	1.000
	.195
	.784

	
	communication
	.155
	.226
	.195
	1.000
	.066

	
	Relibility
	.755
	.416
	.784
	.066
	1.000

	Sig. (1-tailed)
	revenue.earns
	.
	.001
	.000
	.170
	.000

	
	Trust
	.001
	.
	.001
	.080
	.004

	
	product.quality
	.000
	.001
	.
	.114
	.000

	
	communication
	.170
	.080
	.114
	.
	.343

	
	Relibility
	.000
	.004
	.000
	.343
	.

	N
	revenue.earns
	40
	40
	40
	40
	40

	
	Trust
	40
	40
	40
	40
	40

	
	product.quality
	40
	40
	40
	40
	40

	
	communication
	40
	40
	40
	40
	40

	
	Relibility
	40
	40
	40
	40
	40



The independent variable and dep variable, communication and revenue.earns value is below 0.3 so it is rejected. The independent variable and independent variable Reliability and product.quality is above 0.7, so the relation is week.



 6. Based on the co-efficient beta value, which independent variables/hypothesizes should be dropped from the research. – 2 Marks

Answer

	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.
	95.0% Confidence Interval for B

	
	B
	Std. Error
	Beta
	
	
	Lower Bound
	Upper Bound

	1
	(Constant)
	.953
	.805
	
	1.184
	.244
	-.681
	2.587

	
	Trust
	.067
	.073
	.057
	.910
	.369
	-.082
	.215

	
	product.quality
	1.205
	.123
	.909
	9.805
	.000
	.955
	1.454

	
	communication
	-.057
	.088
	-.037
	-.646
	.522
	-.236
	.122

	
	Relibility
	.026
	.114
	.020
	.226
	.822
	-.206
	.257

	a. Dependent Variable: revenue.earns



The beta value of communication is negative so this hypothesis is rejected.  
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